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SHMFTETH2IBHIT SHElLTR
SERILHIRFBEHEBE RE REE2HBNEEZRAR (FRXETH A
R BEREEZEHEFER
BEEDLI
EREERRT
BEES 1 2 3
FERY/AEEZHES W YV&S5C we uvanY BRIl =R
= 1,145 135 403
&t 1, 056 118 373
BT & & 89 17 30
SW=E E 154 15 67
SWEETHEX 9 3 3
SWFEHdEK 25 1 10
SWVWEHAERX 13 0 7
SWEETRABX 27 1 7
SWEHFRX 6 0 6
SV EHHK 8 1 2
SW=E WX 20 1 12
SWEEHEX 16 2 5
SV F X 17 4 6
SV ETAMX 13 2 9
)BT 76 13 29
e TH 26 4 9
JI| O 87 10 19
1THTT 15 1 3
B 12 0 6
Eiv/NGH 60 5 10
ARAETH 12 0 3
JNZETT 14 4 9
ARETH 5 0 6
BT 12 1 6
e ki 30 4 15
el 24 4 6
P i 8 2 5
PEHETH 17 0 8
AT 31 7 4
FET 33 3 11
BT 30 2 15
e 72 9 27
R T 6 0 3
T 19 4 10
PN 27 2 14
HlEE 23 1 15
EAT 18 1 9
e 12 2 4




3D 2

SHMFTETH2IBHIT SHElLTR
SERILHIRFBEHEBE RE REE2HBNEEZRAR (FRXETH A
R BEREEZEHEFER
BEEDLI
EREERRT
BEES 1 2
FERY/AEEZHES Uk>5C we uvanY
BT 26 4 5
)l 21 3 1
AT 15 4 12
AT 22 2 2
J\ i 18 1 3
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ST 13 2 2
WA 10 0 4
EFH 8 1 2
o Bl 15 2 5
Hem 2 0 2
El 14 0 5
5 U AT 13 1 4
H [l 7 9 3 3
Eal 8 1 5
L RSTER B 8 1 5
= FHT 14 2 4
& L HT 3 2 2
A mT 6 1 2
pNEiL S 23 5 8
VBT 5 0 2
JEl LI ET 4 1 0
N1 T 2 2 1
)11 AT 3 1 1
& AT 1 1 1
M Ly BT 1 0 1
vy elil 4 1 0
e ER B 20 6 6
FRIEAT 3 0 1
LEHEPHT 0 0 0
E T 3 0 0
JNEE BT 1 0 0
TRERALHT 0 1 0
FRACHE &t 7 1 1
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5 HLHT 1 0 0
A1) 1| T 3 0 2
Ly 6 1 1
REERR &t 10 1 3
FJEHT 2 0 1
KEES Gt 2 0 1
= ARHT 5 2 0
B ERL 2 5 2 0
(el 9 0 5
FAORET 5 1
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